
If Installed, remove the (6) bolts and

mesh cover from the Bumper Shell.

Locate the Light Bar 

attachment holes

Secure the Light Bar using 3/8” x 1 

1/4” bolts, flat and lock washers & 

nuts.

Installation Instructions
BR5  Dodge Ram Light Bar Part # 26273T

Read the installation instructions completely and verify that all of the parts listed are accounted for. If you have defective, 
missing or damaged parts or need assistance, please contact Go Rhino Products for fast, friendly customer service at:         
1-888-427-4466 or email: warranty@gorhino.com 
To maintain and care this product keep it clean and do not use abrasive cleaners or polish waxes. It is 

recommended to use only non-abrasive automotive wax such as pure carnauba to avoid scratches 

and rust.

Step-1 Step-1 Step-1 Step-1 Install the Light Bar mesh cover on the Light Bar using the 1/4" x 1/2” Allen head bolts and nylon

lock nuts.

Step-2 Step-2 Step-2 Step-2 If Installed, , , , remove the (6) bolts and mesh cover from the Bumper Shell.

Step-3  Step-3  Step-3  Step-3  Locate the Light Bar attachment holes in the Bumper Shell  and secure the Light Bar to the

Bumper Shell using (4) 3/8" x 1 1/4" hex bolts, (8) 3/8" flat washers, (4) 3/8" lock washers, and 3/8" hex

nuts.

Step-4 Step-4 Step-4 Step-4 Align the Light Bar and tighten all nuts and bolts.

Step-5 Step-5 Step-5 Step-5 Reinstall the mesh cover on the Bumper Shell.

                                                                                                          1 FODI7.003.I

Parts List

Item QTY Code Description Max Torque

1 1 pc 26273T Light Bar

2 1 pc 26373T0AA Light Bar Mesh Cover

3 KTE-G26173T Hardware bolt kit

4 8 pcs 1/4 x 1/2" Allen Head Bolt 10 Ft. Lbs.

5 8 pcs 1/4” Nylon lock nut

6 4 pcs 3/8 x 1 1/4" Hex Head Bolt

7 8 pcs 3/8" Flat Washer

8 4 pcs 3/8" Lock Washer

9 4 pcs 3/8" Hex nut 30 Ft. Lbs.

#1

#2

    Tool Required:Tool Required:Tool Required:Tool Required:

5/32” Hex key

7/16 & 9/16” Socket 

7/16 & 9/16” Wrench 

Approximated installation time: 20 min.Approximated installation time: 20 min.Approximated installation time: 20 min.Approximated installation time: 20 min.



                                     


